EUIS 201841046 H,7H AR ZM FEEE - P RE
Btk Bt o S BB AR 2
4 JRITHRL & AR ERis % FOEREAT SN IGINT
FEMEL | B R R R A B bh 4 LeERE B S
) ] A2 2L 3L LA 5fir 6L THE 8L
. n\ #=1 2352 (+1.3)|/\E ER 2356 (+1.3)[3 Hik 2359 (+1.3)| FTE HMIX 2380 (+1.3)|ix &KX 24.14 (+1.3)|%57th BEZE 2420 (+1.3)| KEH F0#t 2432 (+1.3)|AA #% 24.42 (+1.3)
@B [ 10A7H [ 200m
R b B b R HE SiF HER
on6n | 00m |MPEP S181|RE #H 54.20| B3 Kith 55.04| BB HE 56.03[AM Ak 56.08|8% HE 57.00[%8 #i% 57.13[%518 & 57.72
piadi] NGR|{EEZ LI BE /NA 5 X Eiba XEFII
10878 | 800m RE EH 2:05.80(&H EE 2.07.54|FA 3} 2:09.46| B & 2:12.32|HE =X 2:13.16|7ME HE 2:13.20|h B 153 2:13.81|hE BE} 2:14.61
fEnBRLL SiF i FRE = E RE UNE] HE
10878 | 3000m % BE 9:21.25|lUT BB 9:21.82|FaF% HE 9:2821|/NE =3t o3111lmm = 9:35.06|ch 1l A 943595t M 04667 % ® Ea 94730
¥X 2 EH SiF HER BE B FRE
0878 | 110mH MR MAER 1684 (+0.4)|FR EH 17.11 (+04)|infkE BRRE 17.78 +00)|==F mH 1797 +04)|=5 wA 1861 +0.4)|5HE ME 1876 GOA)|E4M AIE 1889 (+:04)
i B BEEE Fi FEXR /INE /INE
B8 4519\ K%t 46.12| B E 46.14[/NE 46.33|{ENEL 1L 4651|%H 471.73|lLF & 47.79|:ER; 48.09
Pk KEH g —# i I i ITR DN ®E & X% FlK HE L& TR RE
10H7H [ 4x100mR |FOE #H3R NGR FIER = BR B 5 B FR S5 A K¥ R X n\ #=1
TE ARLK Bl RE WA Kih EAME Bk Wi BH X & XA & Bk BEX
INE EERF ZR BE B OER R B FE /KT AR HE BEA M WETIEIES
HE 4 1.65|/M WA 1.60 ZINR @ik 1.60[/NFE 1% 1.55 A A7) 155|711 AN 1.55
w0a7a | e %X /NEE Esfisgealiss R FER NE
" KE 1.60 BiF #th 1.55
Kt BRI
BX RX 2.60|%@:E EIRA 2.40 mHF 2« 2.00
Lo | UNE] UNE]
10H7H | Hmbk e vy
=R
W0A6R | el Bk BEX w579 (+2.6)|4EF #EAER w549 (+2.9)(HA B&X w5.48 (+3.3)|FH A& w5.46 (+3.9)|hF A= w5.33 (+4.6)|#AIS {HiE 531 (+1.5)|EAR B w5.28 (+4.0)|%H EA& 5.24 (+1.7)
R EX /NEE ITES= e Esficealic /NEE N[
w0AaTE | e He & 11.65 (+0.3)| X% Fl& 11.44 (+1.0)|KJIl iR¥# 11.05 (+08)|EAX AL 10.86 (-0.2)|#B1E BEH w1053 (+2.5)|k A ik 1052 to3)|ax = 1042 ollEO BA 1032 (109)
e ZH B# /NEE b1 Kt REX i
0A78 | R FHE JF 1242 K& &N 11.00|35/E RRRL 10.26|5hdE K2R 1011 K8 &R 957| LR S 9.51|=71 BA# 946(ME X 8.97
Y- E BRI RE HE /NEE trR E
o6R | hfE K2R 33.25| K8 &A 29.79| K &R 29.45|FHE RF 29.35(#FR & 27.19| KA B# 2627| LR &2 25.89|MN8 FK 24.90
RE FE RE Y- NE wi& /NEE E
rosien | mase AR B 1848|#1R  fRAER 1806| == #iiFY 1726)/M HHAE 1636| /T £ BE&k 1607|3E L Eth 1572| 74t Fik 1375|BR £ ZE8 1286
B# i i /NEE IR L RXEFI R RER
10A6H [ 110mH 17.57 (0.0) 17.32 (0.0) 17.40 (0.0) 18.99 (0.0) 19.17 (0.0) 17.70 (0.0) 21.76 (0.0) 20.56 (0.0)
10A6H | fasfLi 9.47 8.08 6.93 8.05 6.67 7.33 9.01 8.75
10A6H | Embk 1.40 1.40 1.45 1.55 1.55 1.40 1.45 1.40
10A6H [ 400m 57.26 56.85 57.89 1:00.14 58.25 1:01.14 1:01.19 1:05.24
vens [ 1on6a | 100m FOE AR 12.00 (-1.9)|FE8 H= 12.08 (-1.9)|{F#E A& 1240 (-1.9)|HE & 1259 (-1.9)|"A HEfE 12.76 (-1.9)| T #H1E 1281 (-1.9)| &8 #X 1282 (H1.9)|{EAR Bx 1282(-1.9)
5% Kt b1 ITES= %X EHER UNE] NE
10868 | 1500m HE #®X 4:33.63|8 Z3} 4:3365|=H EX 4:36.43| K#H B 4:46.02|h % F{Z 4:52.08| %t #A 4:55.15[dt K HHFE 4:56.05|f2H & 4:56.72
R R b 1 UNE] i trR 5% ]
INE EFR 11.65 (-2.4)| T2 BMIK  11.83 (-2.4)|h)I| HLt 11.93 (-2.4)|FAX S5 11.94 (-2.4)| =% &3 11.94 (-2.4)|| #Fk 11.96 (-24)|#% BE 12.08 (-2.4)|HhE #HFE 12.22 (-2.4)
24EBT- [ 10A6H [ 100m i
b1 b 1] & IR L 11 m] B %X IR L
wren | 1500m X BRE 41937(lLT BE 4:19.42|FH EiE 42497\ TE 4:2508|/NE 23} 42940iBE SAA 42947010 A 43108\ EHE EE 434,00
%X Ik SR E]: SF F B2 BEEE




HIH - 2018410 H6H,7H FHIR M BEE - I RE
Btk Bt o S BB AR 2
4 JRITHRL & AR ERis % FOEREAT SN IGINT
FEMEL | B R R R A B bh 4 LeERE B S
) & A2 2L 3L LA 5fir 6L THE 8L
semser | 1on7a | 200m D /NS 26.94 (H1.H)[/NEF iR 26.98 (+1.4)|HEth EiK 2722 (+14)|80 WE 27.32 (+1.4)|FT1L EB 2749 H14)|LUT XE 2751 (+1.4)|BTIEH ZEx 2157 (+1.4)|EH# BK 27.89 (+1.4)
EX AEE *tHE XEFII R X B BE
10868 | 1500m #E O 4:49.23|%H Wik 4:49.98|REX ETH 4:55.16|B45 HE 4:5843|%R X8 459.35| K BTt 5:04.73| B8 A E 50528 @ B 5.06.47
R N::Eld =5 BE trE BE B SiF
i | oomn |FE IES 15.10 (+0.2)|f73+ & 15.16 (+0.2)|8:8 &HE 15.30 (+0.2)|FH 1 16.03 (+0.2)|#3MH 18 16.10 (+0.2)| AR ZEHE 1624 (+0.2)|R BEK 16.32 (+0.2)| B THE 1644 (+0.2)
b At IS N HREX B b H¥X trE
EXR 51.00(35 % 51.90| B 52.47|{RF1m 5261 |H&E 52.76 (1S 52.88|/NE 52.93| X EFJII 52.98
wEin B BTE B HH S Al B wE A FR EiE #3% BHE EFoh
10H7H [ 4x100mR |FRH EBE AR =t T BE ESFITIRE 3378 B K& = EBK mA xR A0 WL
w\E X ATE =% HE #0E BH DT e H<H Bl Ex ik BEX EH HH
K & BhEE Bk EK & £k BT BA OGO A0 t&E Nz =i RBi 2R
ws ARfE 1513k T #ATE 151|FAK FYH 151|ILTF BX 1.48|—48 ¥ 148|FER B®E 1.40 EE ¥ 1.35
WATE | e XEFII LHFE Kt BE XEFII EA BOEYA R
BTH EX 1.40
by ]
W0A6R | el EAR & 476 (+15)[EH HY 466 (+0.8)[gn AR HF 466 +0.1)[HH EF 461 (0.0)[F5H R 458 (+0.1)| 45 THE 458 (0.0)[#A#L LA 445 (+04)|EH HF 442 (+0.3)
E i 33 EX Ei:: BE REX HRER RXEFI
0A7R | o e *W 105958 BT 1032(EH H% 1018{ILE X 992 X% % 992|%m BE o6i|1aE BIBE a1 |RE BT 032
AEE REX e Ba INE XEFN INE e
0A6R | M (20 BF 2724/ 8E AEE 2508 RE 15 23.78| 3R KRS 2338 EME % 2096|618 2023|077t 2098|mE =M 20.79
REX UNE] XEFN by ] bk /NEE b N7 BEEE
woR6d | s "H A 2417|188 &E 2811|ILF EHE 2310[FH i 2233|258 HRTE 2195|[f BEEY 2099|850 tE 1909| B3 EA&TE 1896
Kt 51 N R HREX XEFN 2378 BE XEFN
10A6H [ 100mH 15.36 (+0.1) 15.39 (+0.1) 15.90 (+0.1) 16.18 (+0.1) 16.65 (0.0) 16.67 (0.0) 17.15 (+0.1) 18.02 (+0.1)
10A6H | ek 1.49 1.35 1.49 1.35 1.49 1.35 1.40 1.35
10A6H | fasfLi 9.23 8.37 8.29 8.84 8.90 9.03 7.59 8.62
10A6H [ 200m 29.29 (-3.2) 27.92 (-3.2) 28.99 (-3.2) 28.05 (-3.2) 29.89 (-3.2) 29.21 (-3.2) 30.56 (-1.3) 29.61 (-1.3)
vieser | 10m68 | 100m FEHE IR 1338 (-23)| AT E# 13.42 (-2.3)|FEH B 1343 (-2.3)| &L §H 13.55 (-2.3)|/XR VHED 13.66 (-2.3)|RH XH 13.76 (-2.3)|%)l BE 1376 (-2.3)| AL PF|ET 1381 (-2.3)
Kt DIV N EX XEFN HEE I bN74 trR
w0A7E | s00m TH BE 2:2377|EAX & 2:2420|FE# B 2:26.31|luh BiE 2:29.10[lLO HroA 2:2953|3EA 1hE 2:30.50|fRA {£78 2:30.95|/ T8 BT 2:32.20
/NEE R trR 1848 b ] i UNE] B
T kE 13.24 (-2.1)| 742 Bk 1342 (2D EH RAE 1352 (2N)|iKX RE 13.54 (-2.0)|IUA FnzE 13.63 (-2.1)|EF ¥ 1372 ((2D|/NEF iR 13.78 (-2.1)
2441 | 10H6H |  100m .
=5 EX FFE8 e B#t *HE BEEE
w0A78 | soom b= SIT 2:1831|KEX BTy 2:22.05|8248 $H=E 2:22. 88| R B 2:26.14|5%E/H EH 2:26.88|dLR =55 2:28.38| = tth ZRIH 2:2847|EE i 2:29.34
p3:icA =5 BE B trE b1 p3:icA N
e | R | BR[| FX [ = [ e | e | eI | el
VN _61 34.5 33 _32_ _?1 .5 30 33.5 29 |
e EX g | XEFN] BR | XER Xt FX BE
48 39.5 38 36 30 29 29 24




